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Nachbesprechung Bonus

8.5 Inner Direct Products (%) (8 Points)
a) Let (G; =, 7, e) be a commutative group. Let H and K be subgroups of G such that

i. G={hxk|heH ke K},
ii. HNK = {e}.

Prove that G is isomorphic to the direct product H x K. In this case, G is called the
inner direct product of H and K.

b) Use the previous subtask to prove that (Z3, ©15) >~ Zg x Z4. You can use the subtask
even if you have not proven it. Do not prove the isomorphism directly.



Isomorphe und zyklische Gruppen - Ubersicht

Isomorphe Gruppen:

* (Zyym, ®) = (Z,,, ® ) X (Z,,,, D), wenn gcd(n,m)=1
Isomorphismus: Y: Z,,,,, = Z,, X Z,,, P(a) = (Rn(a),Rm(a))

¢ (Zym, ©) = (Z;,® ) X (Z;,, ®), wenn gcd(n,m)=1

* Jede zyklische Gruppe G mit |G| = nistisomorph zu (Z,,, ®)

Zyklische Gruppen:

m AnzahlElemente Zyklisch?

(Z,,, D) n Farallen € N
(Z,, ®) X (Z,y, D) nx*m Wenn gcd(n,m)=1

(Z3, ®) p(n) Wennn € {2,4-} fur eine Primzahlp > 2unde > 1
(Z3,®) X (Z},,®) p(n) * p(m) Wenn gcd(n,m)=1 und Z;,,,, zyklisch

G |G| =p Wenn p Primzahl



Fermat

Corollary 5.14 (Fermat, Euler). Forall m > 2 and all a with ged(a,m) = 1,
a?lm = 1.
In particular, for every prime p and every a not divisible by p,

a =, 1.

Aufgabe: Berechne R, (16%)
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Ringe

Fur ein Ring (R, 4+, —, 0,%, 1) gilt

i. (R,+,—,0)ist kommutative Gruppe

i. (R, 1)istMonoid

iii. a(b+c)=(ab)+ (ac)und (b +c)a = (ba) + (ca)

Der Ring ist kommutativ, wenn * kommutativia * b = b * a



Aufgabe

9.4 Non-Minimality of Ring Axioms (%) (8 Points)
In this exercise, you prove the remark in Chapter 5, Footnote 20 of the lecture notes.
Consider an algebra (R; +, —.0, -, 1) such that

i) (R;+,—,0) is a group.
ii) (R:-,1) is a monoid.
iii) a(b+ ¢) = ab+ acand (b + ¢)a = ba + ca forall a, b, ¢, € R.

Prove that such an algebra satisfies Definition 5.18 in the lecture notes. Each step should
consist of one or more applications of the given axioms, and the axioms used should be
made explicit.

Hint: consider (1 + 1)(a + b).



Aol

\Ji( AcyLn ‘a..'éh, oec,:» -+ koqquhkv fo\‘. \J{r !)e,‘n.o\‘ a zue.cs 01'-4 uinui.\.

Sei cq,.SerD\
(444) (a4 5) = (411)a + (141)5 G > Vi bda bie 2 Mefidleha  (441)(a1) ot
= Ao 44y 115 1 45 (i) Oelilillelel vl Wi [dliails
gt -6 +b (,ii, 1 4.e.> beidle Mb\s‘(g\ﬁlt:ll-\ vl R c..} e
Efb..knim.
(140) (a4 ) = 16248 + 10a+b) (i)
= Ao+ 45 1 da 115 (l’ii)
=a+ b+a+b [Jf,/’n.e,-)
(M44)(a48) = (4+ 1) (e L)
&= g+u+btb~-qg+b+ta+b
& gto«b tb1GL) s atbt a5 1(Y) (+(-5) rechks)
&= [ B b = a-(_lg,‘(@( Cl, A&Oziq\:\m'\:té \mv( |m,<r)c)
=  (-e)4ntadb= ("G)'( R C-’C-c,) linls)
eh ‘&’(JD" 6*0\ (_i, Amzi«hm'\-zx' ud lnv((_\(_)

llofvnv\ I3 \\ \/l'\ E‘S‘



Aufgabe

a) Let (R;+,—,0,-,1) be a ring such that for any a,b € R we have
a’b = aba.

Prove that R is commutative.
Hint: Consider the expression (z + 1)%y.
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Einheiten und Nullteiler
* a € R\{0}istEinheit, wenna*b =b*a = 1fureinb €R
 R* ist die Menge der Einheiten von R

* a € R\{0} ist Nullteiler, wenna * b = 0 firein b € R\{0}

* Fur endliche Gruppen gilt: Jedes Element ist entweder Einheit,
Nullteiler oder 0.

* Integral Domain: Kommutativer Ring ohne Nullteiler



Aufgabe

Finde alle Einheiten und Nullteiler von Z4
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Polynome in Ringen

FUr ein kommutativen Ring R ist R[x] der kommutative Ring der
Polynome uber R.
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Korper
Ein Korper F ist ein kommutativer Ring mit F* = F\{0}

Oder: Ein Kérperist (F,+,—, 0,%x,”1, 1) mit
(F,+,—,0) ist abelsche Gruppe
(F,*,~1,1) ist abelsche Gruppe

L ist ein Korper genau dann wenn p prim. Wir schreiben dann auch
GF(p).
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